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1. Why is cobalt (Co) placed before nickel (Ni) on the periodic table of the elements even though it has a higher average atomic mass than nickel?


A. Nickel has one more proton


B. Cobalt was discovered first


C. Nickel has fewer electrons


D. Cobalt has a lower density

2.Generally, how do atomic masses vary throughout the periodic table of the elements?


A. They increase from left to right and top to bottom


B. They increase from left to right and bottom to top.


C. They increase from right to left and top to bottom


D. They increase from right to left and bottom to top

3. Which of the following atoms has the largest atomic radius?


A. Barium (Ba)


B. Chloride (Cl)


C. Iodine (I)


D. Magnesium (Mg)

4. Explain why the attraction between electrons and the nucleus explain the trends of electronegativity, ionization energy, and atomic radius.

5. Put each set of elements in order from smallest to largest ionization energy: O, S, Po 
6. Put each set of elements in order from smallest to biggest atomic radius: Ca, Se, Ni 
7. Put each set of elements in order of increasing electronegativity: Ca, Se, Ni  
	· Carbon

· Selenium

· Copper

· Barium
	· Bromine

· Hydrogen

· Polonium

· Magnesium
	· Rubidium

· Fluorine

· Silicon

· Vanadium


	Metal
	Nonmetal
	Semimetal

	
	
	


8. Place the following elements in the correct category
Use the letters on the periodic table to label 9 - 12: 

9. Alkali metals _______________

10. Halogens _________________

11. Alkaline earth metals _________

12. Transition metals ___________
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TOTAL SCORE: ________________





TOTAL POINTS


AWARDED: _____________________








